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Revision Exercise 1 3

Revision Exercise 1

1. (a) Express as a power of 3:

(i) 3x3x3

Answer
(i) 9

Answer

(b) From the following list of numbers

12, 24, 36,72
write down:
(i) the highest common factor (HCF)

Answer
(ii) the lowest common multiple (LCM)

Answer

(c) Jen saves her 1p and 2p coins. She has x 1p coins in one jar and x 2p coins in another jar. The total
amount that she has in the two jars is £3.60
Form an equation and use it to find the value of x.

Answer x =

2. A chef buys cooking oil which is delivered in cans which are cuboids. The cans measure 22 cm long, 15 cm
wide and 31 cm high.

(a)  What is the volume of a can of cooking 0il?
15cm

22 cm

31 cm Answer cm

(b)  Write your answer correct to 2 significant figures.

Answer cm
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3. (a) Hester pays £9.01 for a SIM only deal which allows unlimited texts and 500 minutes of phone calls per
month. Her contract is for 24 months.
How much will she pay over the 24 months?

Answer £

(b) She decides to change her phone and is offered two options.
Option 1: continue paying £9.01 per month and buy a new phone for £110.00
Option 2: pay £15 per month for 24 months and get the phone free.

(i) Which is the best option over 24 months?

Answer

(ii) How much would she save by choosing this option?

Answer £

4. (a) A taxifirm charges £2.50 per fare plus 50p per mile.

(i) How much would a 13 mile taxi fare from Bangor to Belfast cost?

Answer £

(ii) How far did Mariam travel if her taxi fare cost £17.50?

Answer miles

(b) The cost of tickets for a Pantomime are:
Adult £22.00 Child £11.00 Senior Citizen £15.00

A family spends £70.00 on tickets. They buy at least one of each type of ticket.
How many of each ticket do they buy?

Answer Adult tickets

Answer Child tickets

Answer Senior Citizen tickets
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5. (a) On a 10 day holiday a family spent:
% of their time at the hotel pool
30% of their time at the beach
the rest of their time sightseeing

How many days did they spend sightseeing?

Answer days

(b) The total cost of the family holiday was made up of accommodation, travel and extras as follows:
Accommodation costs: 55% of the total cost
Travel costs: % of the total cost
Cost of extras: £330

What was the total cost of the holiday?

Answer £

(c) They took 1500 euros spending money with them. If 1 euro equals £0.86, how much in £s did it cost
(at 0% commission) to change their money into euros?

Answer £
6. Use the foll.owmg flow diagram Input7, 8,9, 12
to sort the input numbers. J/
Yes /Szx No
has3asa No Yes has3asa No
divisor? . ° divisor? ?

[a] [b] [d]
If the numbers 7, 8, 9 and 12 are input, which number is output at:

a= b: CcC= d:




